CONTRACT AGREEMENT

WHEREAS, ISAT U invited Bids for certain goods and ancillary services, particularly the PROCUREMENT OF ICT SUPPLIES AND EQUIPMENT FOR DIFFERENT DEPARTMENT with Project Reference No. MC-GOODS-2024-06-13 and has accepted a Bid by the OXORD COMPUTER SOLUTIONS & REPAIR CENTER in the sum of ONE MILLION FOUR HUNDRED THIRTY FIVE THOUSAND FOUR HUNDRED TWENTY THREE PESOS (PhP 1,435,423.00), hereinafter called the "Contract Price".

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract referred to;
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as integral part of this Agreement, *viz.*:
 - i. Philippine Bidding Documents (PBDs);
 - i. Schedule of Requirements;
 - ii. Technical Specifications;

Item No.	Description/Brand	Qty/Unit	Unit Price	Total Price
1.	Adaptor Brand: Universal universal adaptor, 3 way, premium quality	15 pcs	50.00	750.00
2.	AVR Brand: Stavol (5000watts) capacity, 160V to 260V input voltage, 220V output voltage	1 unit	14,395.00	14,395.00
3.	Barcode Scanner Brand: Xprinter 2D barcode scanner with adjustable stand in 2.4G wireless USB wired bar code reader	2 units	1,715.00	3,430.00
4.	Battery Brand: Canon canon EO5 850D DSLR camera battery, LP- E17, 7.2V, 1040mAh (Li-on)	2 units	2,990.00	5,980.00
5.	Battery Brand: DJI Mavic drone battery, DJI Mavic Air 2, lithium ion polymer rechargeable battery, PB2-3500mAh- 11.55V	2 units	7,799.00	15,598.00

6.	Cabinet Brand: Infini data cabinet, 4u wall mount cabinet, 600mm W	2 units	3,700.00	7,400.00
	x 450mm D x 12" H			
7.	Cable Tie			
	Brand: Universal	1 pack	75.00	75.00
	#4 in.			
8.	Cable Tie			
	Brand: Universal	1 pack	180.00	180.00
	#8 in.			
9.	Connector			
	Brand: Universal	100 pcs	6.00	600.00
	nickel-plated shielded CAT6 RJ45 connectors			
10.	Extension Cord			
	Brand: Panther	10 pcs	1,350.00	13,500.00
	extension cord with multiple outlet, 4 meters or		, , , , , , , , , , , , , , , , , , , ,	
	higher			
11.	External Hard Drive			
	Brand: Western Digital 1TB external USB 3.0/2.0 Portable Hard Drive-	2 units	3,099.00	6,198.00
	Black			
12.	Flash Drive			
12.	Brand: Sandisk			
	USB 3.0 flash drive 64GB ultra SDCZ48-	8 pcs	299.00	2,392.00
	064G-U46			
13.	Flash Drive			
	Brand: Sandisk	4	500.00	500.00
	USB 3.0 flash drive 64GB ultra SDDD2-064G-	1 pc	599.00	599.00
	G46, OTG dual flash drive			
14.	HDMI Extension Cable			
	Brand: Vention	3 pcs	460.00	1,380.00
	UHD 4K 60HZ Ultra-Thin HDMI 2.0 Male to	o pos	100.00	1,000.00
	Male Cable, 5 meters			
15.	Keyboard and Mouse			2.250.00
	Brand: A4tech	11 sets	550.00	6,050.00
40	USB wired keyboard and mouse, good quality			
16.	Memory	90 200	495.00	39,600.00
	Brand: Faspeed 4GB/8GB DDR3 RAM	80 pcs	495.00	39,000.00
17.	Mouse Pad			
17.	Brand: Universal	1 pc	170.00	170.00
	mouse pad with wrist support, black	1 00	170.00	170.00
18.	Printer			
10.	Brand: Epson		0.705.00	50 770 00
	3 in 1 continuous ink supply system, heavy	6 units	8,795.00	52,770.00
	duty, AC 100-240V			
19.	Printer			
	Brand: Xprinter	2 units	3 000 00	7 080 00
	receipt printer, Xprinter, 80mm/bluetooth	2 units	3,990.00	7,980.00
	receipt/thermal printer			
20.	Printer Ink			
	Brand: Brother	8 btls	390.00	3,120.00
	genuine Brother DCP-T710W, BT 5000, black			

	21.	Printer Ink			
		Brand: Brother genuine Brother DCP-T710W, BT 5000, cyan	4 btls	390.00	1,560.00
	22.	Printer Ink			
		Brand: Brother	4 btls	390.00	1,560.00
		genuine Brother DCP-T710W, BT 5000,	4 003	390.00	1,500.00
		magenta			
	23.	Printer Ink			
		Brand: Brother	4 btls	390.00	1,560.00
		genuine Brother DCP-T710W, BT 5000, yellow			
	24.	Printer Ink			
		Brand: Epson	8 btls	470.00	3,760.00
		genuine Epson refill ink 001, black			
	25.	Printer Ink	4 1 41	205.00	4 000 00
		Brand: Epson	4 btls	305.00	1,220.00
-		genuine Epson refill ink 001, cyan			
	26.	Printer Ink	4 btlo	205.00	1 220 00
		Brand: Epson	4 btls	305.00	1,220.00
-	27.	genuine Epson refill ink 001, magenta Printer Ink			
	21.	Brand: Epson	4 btls	305.00	1,220.00
		genuine Epson refill ink 001, yellow	4 005	303.00	1,220.00
-	28.	Printer Ink			
	20.	Brand: Epson	143 btls	270.00	38,610.00
		genuine Epson refill ink 003, black	140 500	270.00	00,010.00
\ <u> </u>	29.	Printer Ink			
V		Brand: Epson	79 btls	280.00	22,120.00
		genuine Epson refill ink 003, cyan			
	30.	Printer Ink			
/		Brand: Epson	79 btls	280.00	22,120.00
		genuine Epson refill ink 003, magenta			
	31.	Printer Ink			
		Brand: Epson	79 btls	280.00	22,120.00
		genuine Epson refill ink 003, yellow			
	32.	Printer Ink			
		Brand: Epson	11 btls	260.00	2,860.00
		genuine Epson refill T664, black			
	33.	Printer Ink			
		Brand: Epson	11 btls	275.00	3,025.00
_		genuine Epson refill T664, cyan			
	34.	Printer Ink	44 646	275.00	2 025 00
		Brand: Epson	11 btls	275.00	3,025.00
-	25	genuine Epson refill T664, magenta			
	35.	Printer Ink	11 btls	275.00	3,025.00
		Brand: Epson	11 Dus	275.00	3,023.00
	36.	genuine Epson refill T664, yellow Printer Ink			
	30.	Brand: HP	4 btls	275.00	1,100.00
		HP GT51 black, genuine ink	4 503	270.00	1,100.00
	37.	Solid State Drive			
	0,.	Brand: Western Digital	120 pcs	120 pcs 1,980.00	237,600.00
		120GB or higher, SATA3 6Gb/s		, = 3.5	
	38.	Speaker			
		Brand: Yutu	1 unit	140.00	140.00
		computer speaker, USB powered speaker			

39.	Speaker			
	Brand: Konzert 2.1multimedia speaker with bluetooth, USB & SD Slot, Aux-In, 1 Mic Input and FM Radio, 2500W PMPO, with subwoofer	1 unit	4,890.00	4,890.00
40.	UPS			
40.	Brand: Kebos	5 units	1,850.00	9,250.00
	650VA or higher with 4 outlets UPS			
41.	Desktop Computer Brand: AMD Ryzen 3 3200G Desktop Computer AMD processor 3200G or higher, 8GB DDR4 memory or higher, 240GB SSD + 500GB HDD, 19" or higher monitor, 650watts or higher UPS, with USB mouse and keyboard and licensed operating system Pro series	7 sets	29,395.00	205,765.00
42.	Projector Brand: Epson 3LCD Technology, RGB liquid crystal shutters 0.55 inch with C2 Fine LCD panel, 3800 Lumen- 2500 Lumen, XGA, 1024 x 768, 4:3 Resolution, Interfaces: USB 2.0 Type a, USB 2.0 Type B, VGA in, Wireless LAN IEEE 802.11b/g/n (optional), with complete accessories and laser pointer	1 unit	29,845.00	29,845.00
43.	Speaker Brand: Konzert portable speaker with microphone, power output 550w, frequency response 60Hz-10Kz, input power AC 220v-240V 50Hz, external DC 12v, with built in battery speaker unit 12 in bass and with handle, cable system microphone input	2 units	27,500.00	55,000.00
44.	Camera Brand: Canon RF-S18-150mm f/3.5-6.3 IS STM lens, Approx. 24.2MP APS-C CMOS sensor with 1.6x crop factor, Up to 23 fps continuous shooting with AF/AE tracking, 4K UHD (6K oversampling) and 4K 60p with 128gb memory card - DSLR camera or higher	2 units	72,788.00	145,576.00
45.	iMac Desktop Brand: Apple iMac Desktop M3 chip with 8-core CPU with 4 performance cores and 4 efficiency cores, 10-core GPU, and 16-core Neural Engine, 256GB SSD storage, 8GB unified memory, Two Thunderbolt / USB 4 ports, Two USB 3 ports, Gigabit Ethernet, Magic Mouse, Magic Keyboard with Touch ID - US English and 1 USB-C to HDMI Adapter - 4K Multiport AV Converter with USB-C, USB 3.0 and HDMI Ports, 1 USB-C to Gigabit Ethernet Adapter	1 unit	96,990.00	96,990.00

46.	Laptop Brand: Acer i5 or its equivalent, 8GB memory, 1 TB HDD, 2 GB Video Card, with licensed operating system Pro series and laptop bag	3 units	45,900.00	137,700.00
47.	Laptop Brand: Acer i7 or its equivalent, 16 GB memory, 1TB SSD, 4 GB Video Card, with licensed operating system Pro series and laptop bag	1 unit	59,995.00	59,995.00
48.	Television Brand: LG 60 inches 4K UHD Smart LED TV, Display Resolution: Ultra HD 3840×2160 or higher, Inputs: RF In (Antenna/Cable), Component Video In, Composite In (AV), HDMI, USB 3.0/2.0, Digital Audio Out (Optical), LAN, RS232(Rear, Phone Jack), Connectivity: Wi-Fi Built-in, Power Requirement: 100-240V 50/60hz AC, with adjustable height mobile TV cart floor stand and freestanding lifting trolley for 32"-65" TV holder, parts included: tray and 2 layer shelves (1 lower shelf & 1 top shelf), 50-60kg load bearing with 4 swivel break wheels	3 sets	46,800.00	140,400.00
	Delivery Period: 30 Calendar Days			
	Warranty Period: 3 months (Expendable Supplies) & 1 year (Non-expendable Supplies) ***** Nothing Follows *****			
	For official use in daily operation of different department			
	Requested by: Dr. Loriedee D. Bentula			
	TOTAL BID AMOUNT			Php 1,435,423.00

- iii. General and Special Conditions of Contract; and
- iv. Supplemental or Bid Bulletins, if any
- ii. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- iii. Performance Security;
- iv. Notice of Award of Contract; and the Bidder's conforme thereto; and
- v. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract

<u>execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.</u>

- In consideration for the sum of ONE MILLION FOUR HUNDRED THIRTY FIVE THOUSAND FOUR HUNDRED TWENTY THREE PESOS (PhP 1,435,423.00) or such other sums as may be ascertained, OXORD COMPUTER SOLUTIONS
 REPAIR CENTER agrees to SUPPLY VARIOUS ICT SUPPLIES AND EQUIPMENT in accordance with his/her/its Bid.
- The ILOILO SCIENCE AND TECHNOLOGY UNIVERSITY (ISAT U) MIAGAO CAMPUS agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS whereof the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

ILOILO SCIENCE AND TECHNOLOGY UNIVERSITY (ISAT U)

OXORD COMPUTER SOLUTIONS & REPAIR CENTER

By:

By:

GABRIEL M. SALISTRE JR., PEE, DIT
SUC President III

ROSELYN D. DOLFO

WITNESSETH:

Campus Administrator, ISAT U MC

JANELLY B. BACALANGCO
Authorized Representative

MARIA LUISA N. EIMAN
Head. Administrative and Finance Services

REPUBLIC OF THE PHILIPPINES:							
CITY OF ILOILO	:	S.S					
x x							

ACKNOWLEDGMENT

Before me, a Notary Public, in the City of Iloilo, this ____ day of __AUG 1 3 2024, 2024 personally appeared the following persons who exhibited their identification cards to establish their identities, to wit:

	establish their identities, to wit:							
	Name	Government ID	Place Issued	Date Issued				
1	GABRIEL M. SALISTRE JR., PEE, DIT	<u>ID NUMBER</u> 04-0232	ISAT UNIVERSITY ILOILO CITY	05 August 2023				
2	ROSELYN D. DOLFO	1:1414-0130B- ANJ 8120 <i>02</i> 0	OOD ROXAS CITY					

They are known to me to be the same persons who executed the foregoing instrument and they acknowledged to me that the same is their free, voluntary act and deed as well as the voluntary act of the institution / agencies they represent.

The instrument consists of seven (7) pages including this page wherein this acknowledgement is written and duly signed by the parties and their witnesses on each and every page hereof.

WITNESS MY HAND AND SEAL, on the date and place above written.

NOTARY PUBLIC.
ROLL NOTARY PUBLIC.
ROLL NOTARY PUBLIC.
ROLL NOTARY PUBLIC.
ROLL NOTARY PUBLIC.
PTR NO. 8313720 01-02-24
IBP NO. 331302 01-02-24
IBP NO. 1361-157-766
MCLE COMP. NO. V-0028120
DATE OF COMMISSION 03-02-23 TO 12-30-24
REG. NO. 169
CITY AND PROVINCE OF ILOILO

Doc No.
Page No.
Book No.
Series of 2024